INSTRUCTION MANUAL I

MOUNTING ADAPTER

MODEL ITAD

BEFORE USE ....

Thank you for choosing M-System. Before use, please check
contents of the package you received as outlined below.

If you have any problems or questions with the product,
please contact M-System’s Sales Office or representatives.

B PACKAGE INCLUDES:
Mounting adapter .........cccveeevveeeceeerieeriee e e eereeeeee e (1)

H MODEL NO.

Confirm Model No. marking on the product to be exactly
what you ordered.

HINSTRUCTION MANUAL

This manual describes necessary points of caution when
you use this product and installation procedures.

POINTS OF CAUTION

H REMOVING THE UNIT

¢ Before you remove the unit or mount it, turn off the power
supply and signals for safety.

e The unit must not be subjected to external force.

® Do not rub the unit with organic solvent like paint thin-
ner.

HENVIRONMENT

¢ Indoor use.

® Do not install the unit where it is subjected to continuous
vibration. Do not subject the unit to physical impact.

¢ Environmental temperature must be within -10 to +55°C
(14 to 131°F) with relative humidity within 30 to 90% RH
in order to ensure adequate life span and operation.

e Mount the unit on a flat and robust plane.

INSTALLATION

Refer to the following instructions, “EXTERNAL DIMEN-
SIONS” and “MOUNTING REQUIREMENTS”.

5-2-55, Minamitsumori, Nishinari-ku, Osaka 557-0063 JAPAN EM-2353 P.1/4
Phone: +81(6)6659-8201 Fax: +81(6)6659-8510 E-mail: info@m-system.co.jp

M-SYSTEM CO., LTD.



ITAD

EXTERNAL DIMENSIONS unit: mm

ETYPE1 ETYPE 2

120°

1/4-20UNC Mounting screw

1/4-20UNC Mounting screw

3-4(.16) dia. MTG HOLES

3-5(.20) dia. MTG HOLES

35 (1.38)

35 (1.38)

EM-2353 P.2/4

5-2-55, Minamitsumori, Nishinari-ku, Osaka 557-0063 JAPAN

Mﬂgm Phone: +81(6)6659-8201 Fax: +81(6)6659-8510 E-mail: info@m-system.co.jp

M-SYSTEM CO., LTD.



ITAD

MOUNTING REQUIREMENTS unit: mm (inch)

ETYPE 1

352 (13.86)
(Lamp Layers: 5)

352 (13.86)
(Lamp Layers: 5)

60 (2.36) dia.

60 (2.36) dia. ﬁ(

35 (1.38

T
35 (1.38)

1/4-20UNC Mounting screw

MSYSTEM

M-SYSTEM CO., LTD.

5-2-55, Minamitsumori, Nishinari-ku, Osaka 557-0063 JAPAN
Phone: +81(6)6659-8201 Fax: +81(6)6659-8510 E-mail: info@m-system.co.jp

EM-2353 P.3/4



ITAD

ETYPE 2
-~ | — 0
) )
|8 = o8 —
0| 0| o
S| =Ry
Ry | z|a
o | 2 o | &
€ s g|g
2 = 4
—
|
|
|
|
|
b
] @ | 40 (1.57) dia.
a3 a3
1/4-20UNC Mounting screw
5-2-55, Minamitsumori, Nishinari-ku, Osaka 557-0063 JAPAN EM-2353 P.4/4
Mﬂ Phone: +81(6)6659-8201 Fax: +81(6)6659-8510 E-mail: info@m-system.co.jp

M-SYSTEM CO., LTD.



